FrE18FE
B 1RXREMITHREXNRARESE ETERR

(Fm19%3A31HRTE)

BEARXESD







H18

1
NPO
H H H H
NPO 18 17
NPO
(A)
(A) (B) (B)
4
( ICT
NPO
D
( ) D
( )] D




H18

22

21

v

v

v

v

v

v

v

v

(A (B




H18

v

v

(A (B




H18

v

v

(A (B)

(A)




H18

v

v

(A (B

(A)




H18

v

v

(A (B




H18

v

v

v

18

9

18.1%

15

18.6 H19 3.31

(A (B

(A)

19




H18

v

\ 4

v

v

\ 4

(A (B

H19.5




H18

3
H H H H
60% 18 28.1
(A)
(A) (B) (B)
Web
Web
(
( )
( )
Web




H18

10

19

v

v

v

(A (B

19

H19.6

-10 -



H18

11

v

v

(A (B

(A)

19

19 5

-11 -




H18

12

v

v

v

v

H19.4.1

(A (B

19
H19.6
20 5

19

-12 -



H18

13

v

v wV|

v

v

19

97 235 81 201

(A) (B)

(A

19

- 13-



H18

14
2
H H H
460 18 480
90 17 98.2
15 17 18.0
( ) 48,293,995 19
94.8 18
19.5 18
(A)
A) (B) (B)
4
( 19
19 8 19
( )
( )
19

-14 -



H18

15
3
10
H184.1 H2241 H27.41 H3241
1,225 1,000
( H18.4.1) ( 184%) ( 347 ) ( 469 )
H H H H
18 4 1225
1,187
38
(A
(A (B) (B)
2
22 4 1 1,347 1,000

-15 -



H18

16 | |
4
H H H H H
9250 ( 98.00% 21.00%) ( ) 95.20 (
) 99.10 17 90.61 9475 99.04
50.00 17 309
152 ( ) 2 22 )
9
( )
H18 97.94% 18.06% 91.75% 1.14
( ) 94.96% 0.21 99.00% 0.04
H18.3 30.9 42,550 - H19.3 38.4 75 52,808
(A)
92,771
(A) (B) (B)] 92,771
100
2 9
( )
30,000 )
(H19.8.15  H20.2.15 )

-16 -



17

v

v

11,000

19

10

(A (B

-17 -




18

4
H
99.70 38.50
17 99.65 38.30
99.67  0.02 37.26  1.04
(A)
(A) (B) (B)
( 100

-18 -



H18

19

v

v

v

9850 17 94.3

18

9% 5 2.2 13.9

(A (B

(A)

-19 -



H18

11

20
4
H H H H
3,653 H18.6.1 6,921
11 95.48 53,562,489
51,140,958 20.49 6,921,007 805,076 2,991,976
2,421,531 3,123,955 5,545,486 19
3 4 1
(A)
(A) (B) (B)
4
19
18

-20 -



H18

21
4
H H H H
98,00% 98,00% 98,00%
17 96.29% 94.43% 94.96%
85.00 H17 69.76
97.02% 0.73 97.67% 3.24
97.62% 2.66
78.18  8.42

(A (B

(A

-21 -




H18

22

v

v

30,000

(A (B

(A)

-22 -




H18

23

v

v

200,000

(A (B

(A)

-23-




H18

24
4
HP
H H H
1,500

(A (B

(A)

- 24 -




H18

25
4
H H
4,500
18
A
(A (B) (B)
4

- 25 -




H18

26
5
H H H H H
148,000
12 -10
10 -8 5% . 4% 19 4 1
A
A ® (B)
3
( 19

- 26 -



27

H18

v

v

\ 4

v

\ 4

992,000

(A (B

- 27 -




H18

28
5
H H H
> o
==
80,000
(A)
A @ (8)
4

- 28 -



H18

29

v

v

\4
v

330

18 330

19 4 1

1€

17 75

(A) (B)

(A)

- 29 -



H18

30

\ 4

v

A 4

v

(A) (B)

(A)

(B)

-30 -



H18

31
5
H H
18 22,981
19 5,000

(A (B

(A

-31-




H18

32

v

v

\ 4

v

v

\ 4

(A (B

(A)

10

-32-




H18

33

21

v

v

\ 4

v

v

\ 4

\ 4
v

(A) (B) (B)

100%

19

21

-33-




H18

34
5
21
H H H H H
1
(A)
(A) (B) (B)
2

19

-34 -




H18

35

21

v

v

\ 4

v

v

\ 4

\ 4

v

19

(A (B

19

21

-35-




H18

36

v

v

\ 4

v

v

\ 4

(A (B

(A)

-36 -




H18

37

v

v

v

v

v

v

v

v

18

(A (B

-37-




H18

38

v

v

v

v

v

v

\ 4

v

100

(A (B

(A)

- 38 -



H18

39

v

v

v

v

v

v

v

v

v

30

18

20

(A (B

-39 -




H18

40

v

v

v

v

v

v

A (B

- 40 -



H18

41

v

18

10

(A (B

(A)

- 41 -




H18

42

v

v

v

v

v

v

25,000

18 12

19

(A (B

18

21 1

20

- 42 -




H18

43

v

v

v

25

(A (B

(A)

19

- 43 -




H18

44

v

v

v

(A (B

19

- 44 -




H18

45

v

v

v

v

v

(A (B

- 45 -




H18

46

v

v

v

v

v

v

v

(A (B

18

19

- 46 -




H18

47

v

v

v

v

(A (B

(A

- 47 -



H18

48

v

(A (B

(A

- 48 -




H18

49

v

v

(A (B

(A

- 49 -




